## SCHEDULE "B"

Head of Account.

06-SC12055 Housing & Community Amenities (Capital) 063 Water Supply 0631 W/S 063102 Works (Construction.

Name of Work.

ADDITIONAL DISTRIBUTION SYSTEM AT DEFERENT MUHALLAS I/C KHAN WAH PARA OF C.C PATH FOR PROTECTION OF STORAGE TANKS FOR IMPROVEMENT & EXTENSION OF URBAN WATER SUPPLY SCHEME RAJO. KHANANI TALUKA TALHAR DISTRICT BADIN.

SNO	Items		R	ates .	Units	An	nounts	
1 Group "A" Distribution System								
	g and removing		SINO: 51 I	P- 13)				
Qty:	2400.0	Cft	@ Rs.	605.00	P% Cft	Rs.	14520.00	
2) Expavation for pipe lines in trenches and pits in soft i/c trimming and dressing side to true alignment and shape leveling of beds of trenches to correct level and grade, cutting joint holes and disposal of surplus earth within in one chain as directed by Engineer In charge. Providing fence guards lights flegs and temporary crossing for none vehicular traffic where ever required lift upto 5' ft (1.52m) and lead up to one chain (30.50m) (PHSI No. 1A P-60).								
Qty:	51600.0	Cft	@ Rs.	3600.00	P‰ Cft	Rs.	185760.00	
3) Providing P.V.C pipe of class 'B' (Equivalent make) fixing in trench i/c cutting, fitting and jointing with Z joint with one rubber rings i/c testing with water to a head of 61 meter or 200 ft. (PHSINo:1,P-22)								
3" Dia Qty:	8200.0	Rft '	@ Rs.	90.00	P. Rft	Rs.	738000.00	
4" Dia Qty:	800.0	Rft	@ Rs.	137.00	P. Rft	Rs.	109600.00	
	nerete plain i/c ing of stone agg 40.0		15		nd curing complet : 5,(i)P/-18). P% Cft	e( i/c Rs.	5772.00	
wood (2nd clas	s) for partal woo	od (GSI: 1	No: 18, P-2	20)	onceret works of d		5004.00	
Qty:	160.0	Sft	@ Rs.	3127.41	P% Sft	Rs.	5004.00	
5) G.I Pipe approved quality to be tested with pressure head of 200'ft(SSI:No:1P06)								
Qty:	115.00	Rft	@ Rs.	95.79	P Rft	Rs.	11016.00	
1/: "@ for	bib cock							
Oty:	10.0	Nos .	@ Rs.	348.92	Each	Rs.	3489.00	
6) G.I Fitting (China)								
i) G.I Socket 3/4" Dia (SSINo:2,P-6)								
Oty:	10.0	Nos	@ Rs.	25.00	Each	Rs.	250.00	
ii) G.I Elbow (SSINo:5,P-17)								
¾" Dia Qty:	10.0	Nos	@ Rs.	30.00	Each	Rs.	300.00	
iii) Handle Valve China (SSI No:05,P-17)								
¾" Dia Qty:	1.0	Nos	@ Rs.	271.92	Each	Rs.	272.00	

SNO	Items		R	ates	Units	1	Amounts
6) M.S Clamps	with socket &	scrend for	connectio	n to Public He	ealth (SINo, 16P9	4	1-6
3" Dia Qty:	11.0	Nos	@ Rs.	172.00	Each	Rs.	1892.00
7) PVC Z Joint	fitting (PHSM	11No:18,P-	112)				
i) Bend 90°							*a
3" Dia Qty:	10.0	Nos	@ Rs.	731.00	Each	Rs.	7310.00
4" Dia Qty:	5.0	Nos	@ Rs.	956.00	Each	Rs.	4780.00
iii) Tec				2			
3"x3"x3"Qty	9.0	Nos .	@ Rs.	900.00	Each	Rs.	8100.00
3"x3' x4"Qty:	6.0	Nos	@ Rs.	1181.00	Each	Rs.	7086.00
8) C.I ail piece	es (S.M.I No.9	P-15)					
3" Dia Qty:	8.0	Nos	@ Rs.	375.00	Each	Rs.	3000.00
4" Dia Qty:	4.0	Nos	@ Rs.	487.50	Each	Rs.	1950.00
9) PVC D/plug		P-28)					
3" Dia Qty:	8.0	Nos	@ Rs.	382.00	Each	Rs.	3056.00
1407 MANUAL SASSIFIEM				21.0 Kg/ sq.	cm .or 300 lbs/sq .	inches	
(important) ((S							
3" Dia Qty:	1.0	No	@ Rs.	4290.00	Each	Rs.	4290.00
as per approve frame (wt. 1 ev 6" (152mm) the valve surface a	d designed for wt 3 qr.) fixed hick cement co	sluice valvin RCC 1:2 oncrete 1:2 providing a	ve 3" to 12 2:4 slab 4" 2:4 flooring and fixing I	",18" (497mm) (1.02mm) thing ½" (1.5mm) M.S foot rest	n 4½" @ (1372mm n) dia inside cost in ck the steel per cft ) thick plaster 1:3 as every one foot be s earth to complete	mortar inside beyond	
Qty:	1.0	No	@ Rs.	18820.00	Each	Rs.	18820.00
	he excavated s c complete (PF			ick layers i/c	watering ramming	to full	
Qty:	48600.0	Cft	@ Rs.	2760.00	P‰ Cft	Rs.	134136.00
rubber packin	g of the requi	red thick i	ness nunt d	& bolt with v	trenches the i/c sup vashers etc & other d pressure ect co	er tools	
3" Dia Qty:	8.0	Joints ·	@ Rs.	499.00	P. Joint	Rs.	3992.00
4" Dia Qty:	4.0	Joints	@ Rs.	513.00	P. Joint	Rs.	2052.00
					Total	Rs.	1274447.00
. 2 <u>Gro</u>	up "B" C.C P	ath for Pr	otection o	f Storage Tai	nks		
1) C. 3 brick o	or stone ballast	1 ½" to 2"	gauge Rat	tio (1:4:8) (GS	SI No: 4,P-30)		
Qty:	1286.0	Cft	@ Rs.		P% Cft	Rs.	121094.00

SNO Items Rates Units Amounts 2) Cer ient concrete plain i/c placing compacting finishing and curing complete i/c -screening and washing of stone aggregate without shuttering Ratio (1:2:4). (GSI: ₹5,P-17) 1415.0 Cft Qty: @ Rs. 14429.25 P%o Cft Rs. 204174.00 3) Erection and removal of centering for R.C.C or plain cement concrete work of Deodar wood (2nd-Class) (b) 1 Horizontal (GSI NO: 18 P-20) 576.00 Sft Qty: @ Rs. 3127.41 P% Sft Rs. 18014.00 Total Rs. 343282.00

## TERMS AND CONDITIONS.

- Any errer or ommission in description of items Quantity and units will be governed by relevent schedule of rates and relevents rate anlysises.
- The decision of the Superintending Engineer Public Health Engg: Circle Hyderabad will be final and binding on all the parties in any shape.
- 3 The rate schedule be inclusive of all taxes.
- 4. No premuim allow on be non schedule items.
- 5 No seprate carriage will be paid.

Firm/Contractor.

Executive Engineer
Public Health Engg:Division
Badin

1415

14.57.4

## SCHEDULE "B"

Head of Account.

06-SC12055 Housing & Community Amenities (Capital) 063 Water

Supply 0631 W/S 063102 Works (Construction.

Name of Work.

SUPPLYING & INSTALLING CHILORINE DOSING SYSTEM FOR IMPROVEMENT & EXTENSION OF URBAN WATER SUPPLY SCHEME RAJO KHANANI TALUK ATLAHR DISTRICT BADIN.

. S.#	Item	Q	ty.	Rate.	Unit.		Amount	
1) Supplying Fixing Chlorine re-circulation and dosing pump								
Quantit	y 1.00	No	@ Rs.	435000.00	Each	Rs.	435000.00	
2) Supplying Fixing Gas Botall of 150 lbs capacity i/c transportation from Lohore to site ofworks &.A.A.								
Qty:	2.0	Nos	@ Rs.	125000.00	Each	Rs.	250000.00	
3) Supp ying Fixing Chlorine gas filing i/c transportation from Lohore to site ofworks &. autica.								
Qty:	2.0	Nos ·	@ Rs.	75000.00	Each	Rs.	150000.00	
4) Supplying Fixing Chlorine Gas Filter (R.A.A.)								
()ty:	1.0	No	@ Rs.	417560.00	Each	Rs.	417560.00	
5) Supplying Fixing Chlorinator (Q. l.)								
Qty:	1.0	No	@ Rs.	150000.00	Each	Rs.	150000.00	
6) All PVC Pipe Fitting & installation charges i/c testing(Q.()								
Qty:	1.0	No	@ Rs.	50000.00	Each	Rs.	50000.00	
					Tota	Rs.	1452560.00	

## TERMS AND CONDITIONS.

- Any errer or ommission in description of items Quantity and units will be governed by relevent schedule of rates and relevents rate anlysises.
- The decision of the Superintending Engineer Public Health Engg: Circle Hyderabad will be 2 final and binding on all the parties in any shape.
- The rate schedule be inclusive of all taxes. 3
- No premuim allow on be non schedule items.
- 5 No seprate carriage will be paid.

Firm/Contractor.

Executive Engineer Public Health Engg: Division Badin